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Question Number : 1 Question Id : 70959722040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The nucleophilicity changes for CHe, CGiNHz, (B0H and (OBF as

1. Cis > (N2 > GB0H > CH3F
2. CiHs < BNz < GBOH < CH3F
3. Cis = GbBMND > GBOH > CHsF
4. Cis > QBN = GBOH > CH3F

Question Number : 2 Question Id : 70959722041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
For which of the following molecules significant p# 0

cl cM OH Br
(i} @ fiik © (iii’y vk
CH M OH Er
1. Only (1) 3. (111) and (1v)
2. (1) and (11) 4. only (111)

Question Number : 3 Question Id : 70959722042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The most unlikely representation of resonmance structure of p-nitrophenoxide
iom 1s

o o
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DH‘""M*’ 0 Dh““ﬁw O
=
(1) 2) (3) @ |
C
Q- o] (=} (8]

Question Number : 4 Question Id : 70959722043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which of the following lonc pair indicated is involved in resonance

e
G}O (i} O ﬂii}@ ) /{ \u
M M M

1. (1), (111) and {(1v) 3. (1) and (1v)
2. (111) and (1v) 4. (11) and (111)

Question Number : 5 Question Id : 70959722044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the correct scguence for the order of eclectrophilic substitution
for the [ollowing compounds

Me
Me e Me Me Me
be

(i} (ii) (iii} (iv}

. 111> 11 > 1> 1v 2 1> 11 > 1¥ > 111

Jooav a1 > 111> 1 4. iv>1>11> 111



Question Number : 6 Question Id : 70959722045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the product for the following transformation

PhMeBr + (02 =2 Product
1. Ph-H 2. Ph-0CH2H:

3. Ph-CO0H 4. Ph-Ob(

Question Number : 7 Question Id : 70959722046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which onc of the [ollowing compound 15 the most acidic

Question Number : 8 Question Id : 70959722047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Arrange the compounds in the order of increasing acidity

CH OH OH OH
cl Me MO, Me

L. (1) < (111) < (11) < (1¥) 3.0 (1v) < (11) < (1) < (111)
2. (11) < (1¥) < (1) < (111) 4. (1v) < (111) < (11) < (1)

Question Number : 9 Question Id : 70959722048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Arrange the compounds in the correct order of increasing stability

(i) (i) (i) {iv)

Ehpian

Br
. (11) < (1) < (111) < (1¥) 3. (1) < (11) < (111) < (1¥)

2. (11) < (1) < (1¥) < (111) 4. (1) < (11) < (1¥) < (111)



Question Number : 10 Question Id : 70959722049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For the following i1ons, the correct order of nucleophilic strength 1s

I. GHO™ < (HO < QB0 < OH°
2. (MO0 < CellsOr< OH™ < (HAO™

3. (HO00" < OH < CabsO0r < (07
4. GHO™ < (H000™ < CHO™ < OH°

Question Number : 11 Question Id : 70959722050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
¥hich of the following compounds show tauiomerism

OH 0
o o .
(i GC3HNO, m)J\/%J\ {iii) fivh

I. (1), (11), (111) and (1v) 3. (11) and (1v)
2. (1), (11) and (1v¥) 4. (1), (11) and (111)

Question Number : 12 Question Id : 70959722051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
¥ith regards to rate of the recactions which one of the following 1s correct

0 O
/‘L + Rs™___ " /‘L
E ci R SR

O O
| - 5 |
+ RO —= =
R Cl R oOR’
1. rl > 12 3.rl =12
2. 1l <12 4. cannot predict duc to insufficient information

Question Number : 13 Question Id : 70959722052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The relationship between the following compounds 1s
A B B A,
B A A B
1. Anomers 3. samc¢ compound

2. Diastercomers 4. enant iomer

Question Number : 14 Question Id : 70959722053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the lollowing compounds arc optically active

Br Br
Hal oH H3C CH3y
>:¢ﬁ/ >:¢:¢:<
HO CH3 HO oH
1 2 3

1. 1, 2 and 3

2. 1 and 2 only

3. 1 and 3 only

4. 2 and 3 only

Question Number : 15 Question Id : 70959722054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the product for the following addition reaction

H o Ho o O W ou O
HBr
HsC H W H,C OH + H,e H
H H Br M
A B
1. No reaction
2. A only
3. B only
4. A and B

Question Number : 16 Question Id : 70959722055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Identify the relationship between the following two compounds

Cl Me

H CH,CI

Identical compounds
Enant iomers

Positional 1somcrs
Functional 1somcrs

el B

Question Number : 17 Question Id : 70959722056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
¥hich of the following compound(s) has/have planc of symmciry

A, Band C
D only

B and C

A, B, Cand D

1.
2.
3.
4.

Question Number : 18 Question Id : 70959722057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

18. Ident1fy the correct choice of intcrmediate with 1ts stcrcochemistry

Intermediate Stercochemistiry
P. Carbon [rec radical I. pyramdal
(). carbocation I1. planar
R. carbanion IIT. tetrahedral

P
P
P
P

IT, Q-11, R-III

Ior II, Q-1 or II, R-III
I or II, Q-II, R-III

ITI, Q-1I, R-III

i b =

Question Number : 19 Question Id : 70959722058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Natural Glucose 1s termed D-Glucose because
1. It 1s dextroroiatiory
2. It 1s based on D-Glyceraldchyde Fisher projection
3. It 1s based on Newman projection
4. It 15 based on cyclic siructure

Question Number : 20 Question Id : 70959722059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An cnantiomerically pure acid 1s treated with racemic mixture of an al cohol

having onc chiral carbon. The estcr formed will be
I. Optically active mixture
2. Enantiomeric compound
3. Optically 1nactive mixtiurc
4. Difficult to predict due to insufficient information
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Question Number : 21 Question Id : 70959722060 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

What 1s torsional sirain and torsional cncrgy. Explain with a suitable
cxample.

Question Number : 22 Question Id : 70959722061 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3



It i1s known that compounds with higher symmctiry has higher melting point.
Identi1fy which of the compounds within the [ol lowing two scis, la. lb and
2a, 2b have higher meliing point between them. Also identify the symmeiry

clements present in them.

:: : :? : d é*.u»}q
1a 1b 23 2b

Question Number : 23 Question Id : 70959722062 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3
Writec a short notec about homoaromatic compounds with suitable examples.

Question Number : 24 Question Id : 70959722063 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

Proposc a plausible synthetic sirateey for the following transformation.

You neced to use Ethyl chloroacciate as onc of the rcasents.

COOEt

0 0
@(/Vr CICH,CO Ft
e e ]

Question Number : 25 Question Id : 70959722064 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

Identify producis A and B

0
Baeyer-Villiger .
oxidation LDA, 78 °C
] ﬁ —i
CH,Br

Question Number : 26 Question Id : 70959722065 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

Identify the product and proposc a plauwsible mechanism for the

trans formation.
Ph
Ma
Ph X —= product
h



Question Number : 27 Question Id : 70959722066 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

From the [ollowing possible products (A, B, C and D) i1dentify the correct
product that will be formed and proposc a mechanism for the same.
DME CIH

Ol GO £

Question Number : 28 Question Id : 70959722067 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

Predict the sicreochemisiry of the product during hydrolysis. Give an
ciplanation [or the product obtained throueh an acceptiablec mechanism.

Ph  N-bromosuccinimide
Ph/\\\‘;// = product

H,0
DMSO

Question Number : 29 Question Id : 70959722068 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

What 1s the product obtained whea (R)-2-Chlorobutance undergocs chlorination
that docs not involve the reaction at the stercogemic center (Cl attack).
Give the probable mechanism and explain the product formation.

Cl
Cl, A

— product
H,C

Question Number : 30 Question Id : 70959722069 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 3

Which of the following dienc does not underso Dicls-Alder reaction? Explain
with the same with a valid reason.

00 LY
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Sub-Section Number: 1
Sub-Section 1d: 709597395
Question Shuffling Allowed : No

Question Number : 31 Question Id : 70959722070 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

la. Identify the products formed 1o the following transfommation. Explain 1t
using suitable reaction mechanism. (5 marks)

Me Me
Br,
——= products
H

Ib. Compound A gives product B on rcaction with potassium forf-butoxide.
Proposc a plausible mechanism for the product formation. (5 marks)

COOEt

COOEt
KBuO*

0

Question Number : 32 Question Id : 70959722071 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

2. With alkyl substituted cyclohexanone as an example explain how octant rule

can be wsed to find out the absolutie configuration of the alkyl substituents
in alkyl substituted cyclohexanoncs. (10 marks)

Question Number : 33 Question Id : 70959722072 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10



3a. The following N-chloro amine with a -CH group 15 subjected to photolysis
under acidic conditions. Then the obtained material was [urther subjected to
trcaiment with a base. Identify the final product and propose a mechanism for
the same. (5 marks)

R R’ photolysis base
\N\N/ —_— —— product
I "
Cl

3b. Give an acceptiable mechanism [or the [ollowing transformation (5 marks).

0
OH
@ H+
\0 CH,CI,
0

Question Number : 34 Question Id : 70959722073 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

4a. Compare the cyclic w eleciron sysiems (3, 4, 5 and 7 membered rings) and
ident 1y which specics (anions, ncutral and cations) arc aromalic, non-
aromalic and anti-aromatic. (10 marks)

Question Number : 35 Question Id : 70959722074 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

5. ¥With suitable reaction encrey profile cxplain how clectrophilic aromatic

substitution happens 1o unsubstitueied and mono substituted aromatic sysicms.
(10 marks)

Question Number : 36 Question Id : 70959722075 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10

6. What do vou understand by the sien of recaction constant. Using the
following two cxamples cxplain this

ArNE + PhQOCL in benzene (25 °C) p = -2.69 (rate constant)

Ar((:Et hydrolysis (OH) in ag. EtOH (25 C) p = 2.5] (rate constant)

Question Number : 37 Question Id : 70959722076 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 10



Wriic the complete mechanism for the following transformation. (10 marks)

exo-Tricyclodecane Adamantane



